

ENTER CHITSON KRITO
15/04/2020

MTECH ELECTRONICS

ENG 331

Solve the following $\frac{dy}{dx} = 8$

(1)

$$\frac{d^2y}{dx^2} - 4y = 10e^{2x}$$

(2)

$$\frac{d^2y}{dx^2} + 2\frac{dy}{dx} + y = e^{-2x}$$

(3)

$$\frac{d^4y}{dx^4} + 25y = 5x^2 + x$$

(4)

$$\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = 4\sin x$$

(5)

$$\frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 2e^{2x}, \text{ given that } x=0, y=1 \text{ and } \frac{dy}{dx} = -2$$

(6)

$$5\frac{d^2y}{dx^2} - 2\frac{dy}{dx} - y = 2x - 3$$

(7)

$$\frac{d^2y}{dx^2} - 6\frac{dy}{dx} + 8y = 4e^{4x}$$

(8)

Solution

$$\frac{d^2y}{dx^2} - \frac{dy}{dx} - 2y = 8$$

$$y'' - y' - 2y = 8$$

$$k^2 e^{kx} - k e^{kx} - 2e^{kx} = 0$$

$$k^2 - k - 2 = 0$$

$$(k+1)(k-2) = 0 \therefore k_1 = -1, k_2 = 2$$

$$\text{Complementary Function, } y = Ae^{-x} + Be^{2x}$$

$$\text{PI, } f(x) = 8 \text{ is, } A \text{ constant, Assume } y = C$$

$$y' = 0, y'' = 0$$

$$\text{Substituting the given equation}$$

$$0 - 0 - 2C = 8$$

$$-2C = 8 \therefore C = -4$$

$$\text{PI is } y = -4$$

$$\text{General solution is } y = C_1 e^{-x} + C_2 e^{2x} - 4$$

$$y = Ae^{-x} + Be^{2x} - 4$$

(2) $\frac{dy}{dx^2} - 4y = 10e^{3x}$

GS = $C_1 + C_2$

CF: solve the LHS, $k^2 - 4 = 0$

$k^2 = 4 \therefore k = \pm 2$

$\therefore y = A \cosh 2x + B \sinh 2x$

PI, $f(x) = 10e^{3x}$, Assume $y = Ce^{3x}$

$y' = 3Ce^{3x}$ $y'' = 9Ce^{3x}$

Substitute into the given equation

$9Ce^{3x} - 4(Ce^{3x}) = 10e^{3x}$

$(9C - 4C)e^{3x} = 10e^{3x}$

$\frac{5C}{5} = \frac{10}{5} \therefore C = 2$

PI = $2e^{3x}$

GS = CF + PI $\therefore y = A \cosh 2x + B \sinh 2x + 2e^{3x}$

(3) $\frac{dy}{dx^2} + 2\frac{dy}{dx} + y = e^{-2x}$

$y'' + 2y' + y = 0$

$k^2 e^{kx} + 2k e^{kx} + e^{kx} = 0$

$k^2 + 2k + 1 = 0$

$(k^2 + k)(k+1) = 0$

$k(k+1)(k+1) = 0$

$k = -1$ twice

CF = $e^{-x}(A+Bx)$

PI, $f(x) = e^{-2x}$, $y = Ce^{-2x}$

$y' = -2Ce^{-2x}$, $y'' = 4Ce^{-2x}$

Substitute into the given equation

$4Ce^{-2x} + 2(-2Ce^{-2x}) + Ce^{-2x} = e^{-2x}$

$4Ce^{-2x} - 4Ce^{-2x} + Ce^{-2x} = e^{-2x}$

$Ce^{-2x} = e^{-2x}$

$C = 1$

The PI is $y = 1e^{-2x}$ \therefore PI = e^{-2x}

GS = CF + PI
 $\therefore y = e^{-x}(A+Bx) + e^{-2x}$

④ $\frac{d^2y}{dx^2} + 25y = 5x^2 + x$
 \int + solve for the left hand side, $k^2 - 25 = 0$
 $k^2 - 25 \therefore k = \pm 5j$
 $\therefore y = A \cos 5x + B \sin 5x$

P.I.: $\int(x) = 5x^2 + 25y = 5x^2 + 25y$
 $y' = 2cx + b$, $y'' = 2c$
 Substitute into the equation
 $2c + 25(2cx^2 + bx + c) = 5x^2 + x$
 $25c + 50cx^2 + 25bx + 25c = 5x^2 + x$
 $x^2: 25c = 5 \quad x: 25b = 1 \quad \therefore 25c + 25e = 0$
 $25c = 5 \quad b = 1/25 \quad 2(1/25) + 25e = 0$
 $c = 1/5 \quad 2/25 + 25e = 0$
 $25e = -2/25$
 $e = -2/625$

GS = $Cf + Pi$
 $y = A \cos 5x + B \sin 5x + 1/5x^2 + 1/25x + -2/625$

⑤ $\frac{d^2y}{dx^2} - 2 \frac{dy}{dx} + y = 4 \sin x$
 $y'' - 2y' + y = 0$
 $k^2 e^{kx} - 2k e^{kx} + e^{kx} = 0$
 $k^2 - 2k + 1 = 0$
 $k = 1$ twice.
 $G = e^x (A + Bx)$

P.I.: $\int(x) = A \sin x \therefore y = C \cos x + D \sin x$
 $y' = -C \sin x + D \cos x$
 $y'' = -C \cos x - D \sin x$
 Substitute into the given equation

$$(-c \cos x + D \sin x) - 2(-c \sin x + D \cos x) + c \cos x + D \sin x = 4 \sin x$$

$$-c \cos x - D \sin x + 2c \sin x - 2D \cos x + c \cos x + D \sin x = 4 \sin x$$

$$(-c \cos x + c \cos x - 2D \cos x) + (-D \sin x + D \sin x + 2 \sin x) = 4 \sin x$$

$$(-2D \cos x) + (2 \sin x) = 4 \sin x$$

$$2c \sin x = 4 \sin x$$

$$\frac{2c}{2} = \frac{4}{2}$$

$$c = 2$$

$$-2D \cos x = 0$$

$$\frac{-2D}{-2} = \frac{0}{-2}$$

$$D = 0$$

$$y = 2 \cos x + 0 \sin x$$

$$y = \underline{e^x (A + Bx) + 2 \cos x}$$

$$\begin{aligned}
 & \frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 2e^{-2x} \\
 & \text{Solve LHS} = 0, \quad 4'' + 4y' + 5y = 0 \\
 & \frac{4^2 + 4b + 5 = 0}{-6 \pm \sqrt{6^2 - 4(4)(5)}} = \frac{-4 \pm \sqrt{16 - (4)(5)}}{2 \times 4} \\
 & = \frac{-4 \pm \sqrt{-4}}{2} = \frac{-4 \pm 2j}{2} = -2 \pm j
 \end{aligned}$$

$$y = e^{-2} (A \cos x + B \sin x)$$

PI \Rightarrow $f(x) = 2e^{-2x}$ Assume $y = Ce^{-2x}$
 $\frac{dy}{dx} = -2Ce^{-2x}$, $\frac{d^2y}{dx^2} = 4Ce^{-2x}$

Substitute into the given equation

$$\begin{aligned}
 & 4Ce^{-2x} + 4(-2Ce^{-2x}) + 5(Ce^{-2x}) = 2e^{-2x} \\
 & 4Ce^{-2x} - 8Ce^{-2x} + 5Ce^{-2x} = 2e^{-2x} \\
 & e^{-2x}: \quad 4C - 8C + 5C = 2 \\
 & \quad \quad \quad C = 2
 \end{aligned}$$

$$(GS) y = e^{-2x} (A \cos x + B \sin x) + 2e^{-2x}$$

~~$x=0, y=1$~~

$$\begin{aligned}
 1 &= e^{0(0)} (A \cos(0) + B \sin(0)) + 2e^{0(0)} \\
 1 &= 1(A + 0) + 2 \\
 1 &= A + 2
 \end{aligned}$$

$$A = -1$$

$$\begin{aligned}
 y &= e^{-2x} (-\cos x + B \sin x) + 2e^{-2x} \\
 \frac{dy}{dx} &= e^{-2x} (\sin x + B \cos x) - 2e^{-2x} (-\cos x + B \sin x) - 4e^{-2x}
 \end{aligned}$$

if $x=0$ and $\frac{dy}{dx} = -2$

$$\begin{aligned}
 -2 &= e^{0(0)} (\sin(0) + B \cos(0)) - 2e^{0(0)} (-\cos(0) + B \sin(0)) - 4e^{0(0)} \\
 -2 &= 1(0 + B) - 2(-1 + 0) - 4 \\
 -2 &= B - 2 - 4
 \end{aligned}$$

$$B = 0$$

Particular Solution is

$$y = e^{-2x}(-\cos x) + 2e^{-2x}$$

$$y = -e^{-2x}\cos x + 2e^{-2x}$$

$$y = e^{-2x}(2 - \cos x)$$

$$(7) \quad 3 \frac{d^2y}{dx^2} - 2 \frac{dy}{dx} - y = 2x - 3$$

$$3y'' - 2y' - y = 0$$

$$3k^2 - 2k - 1 = 0$$

$$(3k^2 - 3k)(-1 + k) = 0$$

$$3k(k-1) + 1(-1+k) = 0$$

$$(k-1)(3k+1) = 0$$

$$k_1 = 1, \quad k_2 = -\frac{1}{3}$$

$$y = Ae^x + Be^{-\frac{1}{3}x}$$

P.I; $f(x) = 2x - 3$, Assume $y = Cx + D$

$$y' = C, \quad y'' = 0$$

Substitute into the given equation

$$3(0) - 2(C) - (Cx + D) = 2x - 3$$

$$-2C - Cx + D = 2x - 3$$

$$(-2C + D) - Cx = 2x - 3$$

$$-C = 2 \quad \therefore C = -2$$

$$-2C + D = -3 \quad \therefore 4 + D = -3$$

$$-2(-2) + D = -3 \quad D = -3 - 4 \quad \therefore D = \underline{\underline{-7}}$$

$$\therefore G.S = \underline{\underline{Ae^x + Be^{-\frac{1}{3}x}} - 2x - 7}$$

$$(8) \quad \frac{d^2y}{dx^2} - 6\frac{dy}{dx} + 8y = 8e^{4x}$$

$$y'' - 6y' + 8y = 0$$

$$k^2 - 6k + 8 = 0$$

$$k_1 = 2, k_2 = 4$$

$$C.F. = Ae^{2x} + Be^{4x}$$

$$P.I. = \int (R.H.S.) dx, \text{ Assume } y = Ce^{4x}$$

$$y' = C[4x(4e^{4x}) + e^{4x}(4)]$$

$$y' = C[16xe^{4x} + 4e^{4x}] = 4Ce^{4x} + C^2e^{4x}$$

$$y'' = C[16x(4e^{4x}) + 4e^{4x} + 4e^{4x}]$$

$$y'' = C[16x(4e^{4x}) + 8e^{4x}]$$

$$= 16Cx(4e^{4x}) + 8Ce^{4x}$$

Substitute into the given equation

$$(16Cx(4e^{4x}) + 8Ce^{4x}) - 6(4Cx(4e^{4x}) + Ce^{4x}) + 8Ce^{4x} = 8e^{4x}$$

$$16Cx(4e^{4x}) + 8Ce^{4x} - 24Cx(4e^{4x}) - 6Ce^{4x} + 8Ce^{4x} = 8e^{4x}$$

$$8Ce^{4x} - 6Ce^{4x} = 8e^{4x}$$

$$2Ce^{4x} = 8e^{4x}$$

$$2C = 8 \quad \therefore C = 4$$

$$P.I. = 4xe^{4x}$$

$$G.S. = C.F. + P.I.$$

$$y = Ae^{2x} + Be^{4x} + 4xe^{4x}$$

